duid 3] (guibinit JbS 69 I (gunihi Gl bt § Gl g

317F

%

(A

=1 1317

&
&
<
&
&
&
&

R o o R

4

&

&

&

&

&

&

Axo> o
avivly

pAY
N1

.05 g6 700! CSlow Sguu ZOle! oL St

(03) goras plol

alp! ol (5 )90e
&35 5 Sl pale Oyl
IS Pigel i plojl

[“’QV Jl.w_ J>'|.> &nﬁb ..\.J'ajgwu)lf Guo)go K299 u’o)ij

Re

(

(V%) oS — aild acgazo

)

PEFELR | NP E W PRI VY I

V& 2 Jlges .:1.:1"

S g 8,le g Slaw o Sl Slge ylgas

et U [ oyl 31 | Jlguw sloss PPELE ST P TR
i ) v (il 3§ ol o S i g goges b3 [ )
. i Y. (hdd sl )15 0,90 g 30 9> 30) g pf A | ¥
\z a) Y. (Ahadd punlids )15 8,93 gwy3 90 30) oMol dhunld | ¥
A \A Y. (228 b)) oMl (udd im0 (y920 | F
. 1) Y. eaes ghaie [ 2
. m Y. soses diudd | F
-0 4 Y. oses Ol | Y

ot Jloee Wl il 5 aalaiw!

..))'\) “.A.n 5)0) Q,"ji h’"

Bygn 1 S el onbliin b g ail e e e sl 300 Ll Byl 3 A olondl paled 1 sope 3T (55158 2 3 g (iony SS9 ) iy 5 8 0 T A g 5 ik 3

P P N L P A B

2

&

\Yay

A

&

2

&

&

i

2

&

Gl ey e bt § 92 it )] gl ;b 90 5 bS] § bl G s



duid )] (guibiit JbS 69 (gundi Gaiel bt § Gl g

Y axao 317F (W7 0S) aduds acgoxo

el (19031 dds 10 Lol jgea s & jods (b3 Jeua Ol jade 10 Lasl § Glakie 730 pos 2ol )5 Llbgls ¥

sitlad g a5 oysas] il Kailler 38 ussisciminin cillogtachylal oo il

.'(W/,J,“JU/-.M/)M“,;o,MQQJ

| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the
blank. Then mark the correct choice on your answer sheet.

I-  In the central highlands of New Guinea the sudden ----eeeeee- from the society of the
stone ax to the society of sailing ships (and now of airplanes) has not been easy to make.
1) manifestation 2) deterioration 3) transition 4) sophistication

2- I want your help with my literature review, ---—--- -- to the e-mail are some questions.
Please answer them.
1) Raised 2) Posed 3) Inquired 4) Attached

3-  There is no single or widely used definition of children's literature. It can be - -
defined as anything that children read or more specifically defined as fiction, non-
fiction, poetry, or drama intended for and used by children and young people.

1) broadly 2) optimistically 3) controversially  4) neutrally

4-  When many of the spoken languages of the Native American Indians were -—----—-—- as a
result of colonialism by English, French, Spanish or Portuguese, they became extinct.
1) distributed 2) replicated 3) illustrated 4) replaced

5-  During the winter storm, the road conditions were so ---------—-- that schools were
cancelled for a week.
1) reckless 2) deplorable 3) superficial 4) erratic

6- Laying a bouquet of flowers and the gift-wrapped doll upon the bed, the young mother
kissed the sleeping Soha and said this -------—-- : "A happy birthday, and God bless you,
my daughter!"
1) beneficence 2) malediction 3) benediction 4) valediction

7-  People who - -~ their dreams do what they love and they go for greatness.
1) chase 2) involve 3) gather 4) require

8-  Attention is essential in achieving anything. If you can’t pay attention, you can’t get the
job —eeceeeee -,
1) taken 2) made 3) tried 4) done

9-  Everything man-made around you was --------- -- a thought in someone’s head.
1) socially 2) originally 3) quickly 4) desirably

10-  The strength of the United Nations is dependent upon the -------eee- of its member
countries.
I ) encounter 2) assumption 3) cooperation 4) urgency
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PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best
[fits each space. Then mark the correct choice on your answer sheet.

[ can put my cash card into an ATM anywhere in the world and take out a fistful of
local currency, while the corresponding amount (11) ==-=aesve-- from my bank account
at home. I don't even think twice: (12) =====mnnnn- the country, | trust that the system will
work.

The whole world runs on trust. We trust that people on the street won't rob us,
(13) ==mmmmmmmmm the bank we deposited money in last month returns it this month, that
the justice system punishes the guilty (14) -=--==eae-- . We trust the food (15) ===emnene-
won't poison us, and the people we let in to fix our boiler won't murder us.

11- 1) to debit 2) is debited 3) debits 4) debiting
12- 1) in spite of 2) in relation to 3) no matter 4) regardless of
13- 1)that 2) and 3) for 4) though
14- 1) and the innocent exonerated 2) and exonerates the innocent

3) in order for innocent to exonerate 4) which it exonerates the innocent
15- 1) is bought 2) which we buy it~ 3) we buy 4) to buy

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Philosophical responses to artificial intelligence (Al) have concentrated on the
conceptual issue of whether or not Al can be said to really think and whether or not the
idea of making a thinking machine is conceptually coherent. For this reason, there has
been much less attention paid to the ethical implications of the changes being brought
about by the actual use of Al. The invisibility of successful Al technology also
contributes to a lack of awareness of the social and ethical issues around Al

There is now a growing interest in some of the pressing ethical issues being thrown
up by Al. Consider, for example. the use of Al in medicine. Modern knowledge-based
systems have been shown to be superior to human doctors in certain specialized areas.
There is also evidence that psychotherapy is sometimes more effective if performed by
a computer than if performed by a human therapist. It would be unethical to resist the
introduction of Al in these areas. However, there are no clear ethical principles
established for the design and use of such systems. As yet, there have been no criteria
agreed on as to who should be held responsible when things go wrong.

There is now international concern about the use of autonomous military robots.
with some authorities calling for a moratorium on their deployment. The use of robots
in caring applications, for example. in child care. and in smart homes for elderly
people also raises ethical issues that remain unresolved.
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18-

19-

20-

Which of the following can be the best title for the passage?

1) Al Awareness in Medicine 2) Ethical Issues of Using Al

3) New Philosophies Emerging from Al 4) Contributions of Al Technology
According to paragraph 1, whether a machine can be actually capable of thinking

1) is a question that has contributed to the invisible success of Al

2) is a question that has received mixed responses from philosophers

3) has attracted more attention than whether using such a machine is ethical

4) has received less attention than whether making such a machine is conceptually
coherent

According to paragraph 2, the use of Al in medicine —--=-meeeeeem,

1) is proved to be ineffective

2) should not be prevented in certain areas

3) is not acceptable from an ethical perspective

4) should eventually replace the use of human doctors

Which of the following is a matter of concern regarding the use of modern knowledge-

based systems?

1) Human doctors may get unemployed in the near future.

2) Such systems resist following clear ethical principles.

3) Such systems may pose a threat to human civilizations.

4) It is not clear who should be considered responsible in case of errors or mistakes.

The word "deployment" in paragraph 3 is closest in meaning to ——--e-eeeeeeeee .

1) utilization 2) eminence 3) enticement 4) depreciation

PASSAGE 2:

The philosophical significance of Heidegger's use of the term being-in-the-world rests
on two original and controversial claims. The first is what he calls the "ontological
difference" between "entities" and "being". Entities are whatever can be said to be. By
contrast, that in virtue of which an entity is an entity, and that on the basis of or in
terms of which we understand an entity to be. is its being. Heidegger's reason for
drawing this distinction is to insist that being is not itself an entity and so cannot be
investigated in the way the natural and human sciences investigate their objects. The
question of being belongs exclusively to philosophy.

The second philosophical innovation behind Heidegger's introduction of the term
being-in-the-world is his insistence that there are not just one but several ways or
modes of being. That is. not only are there many things, and indeed many different
kinds of things, but also several distinct and irreducible kinds of existence: What it
means to be is not the same for everything that can be said to be. So, for example.
what it means to be an "occurrent” object (a stone, a tree, a molecule, a planet) is
simply to be present at some particular point in time. By contrast, what it means to be
an "available" tool or piece of equipment (a shoe, a chair, a train, a coin) is to be useful
in some practical context. Something's being available for use. Heidegger argues. is
not just a special case of its being occurrent and then also having some special set of
use properties added on. Rather, being available and being occurrent are two
fundamentally different ways of being.
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What does the passage mainly discuss?

1) The ontological difference lying in the existence of entities

2) Heidegger's position on two controversial claims in philosophy

3) Two philosophical arguments that undermine the significance of the term being-in-
the-world

4) Heidegger's novel claims reflecting why his use of the term being-in-the-world is
philosophically important

According to Heidegger, being ---------vu--- "

1) cannot be distinct from entities from an anthological perspective

2) cannot be studied in the way that objects are investigated

3) is a subject that does not solely belong to philosophy

4) is what all entities do

Which of the following is NOT true based on Heidegger's second philosophical

innovation?

1) There are several types of existence.

2) Being is not restricted to only one form.

3) There are as many modes of being as there are things.

4) The meaning of being is not the same for all things.

Why does the author mention a stone and a shoe in the second paragraph?

1) To show the effects of irreducible existence

2) To give examples of concurrent objects

3) To illustrate two different ways of being

4) To compare their usefulness in practical contexts

The word "fundamentally" in paragraph 2 could be best replaced by ------eeeeeeeev,
1) essentially 2) consistently 3) radically 4) slightly
PASSAGE 3:

Equity theory was originally explained by a behavioral psychologist. John Stacy
Adams. in 1963. This theory attempts to explain an individual's behavior within the
context of striving toward equilibrium in a situation. Equity theory claims that
individuals act according to inequities that they perceive in their environment. When
people observe an unequal situation, they experience distress. This compels them to
act in a way to achieve equity within the situation.

Equity theory is applicable to a number of realms. It can be used to explain how
individuals act in personal relationships: it also has been employed extensively in the
realm of business management. For instance. employees that know they are being paid
less than their coworkers for doing more work would feel under-compensated. In an
effort to correct this inequity, they might attempt to fix the observed inequity in a
number of ways. They might work less, talk to their managers, or attempt to motivate
their coworkers to work harder. Equity theory can. also be applied to employees that
perceive an inequity that favors them. Employees who feel that they are getting too
much in return for their input may attempt to remedy the situation. They may work
harder. argue for better pay for others. or take other measures to make the situation
equitable.

By applying equity theory to actual situations in a workplace, managers can gain
valuable insight into factors motivating their employees. However. attempts to make
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practical sense of equity theory reveal its weaknesses. Critics point out that not all
employees will seek to correct inequities in the workplace. Non-confrontational people
who feel under-compensated may continue to work in the inequitable conditions
simply because they fear conflict. Employees who are over-compensated. on the other
hand, might be satisfied with the inequitable situation. They may do nothing to change
it for fear of hurting their position. In short. equity theory unjustifiably presumes that
individuals will value equity over all other factors. Moreover, it fails to account for
quirks in someone's personality that might cause him or her to avoid addressing
inequality.

According to the passage, equity theory states that --—--—- —

1) equity is achieved when individuals feel acute distress

2) individuals who observe inequalities attempt to correct them

3) individuals attempt to remove inequalities when their interests are at stake

4) individuals who fail to perceive inequalities within a situation experience distress
According to paragraph 2, an individual who works harder than others but receives a
lower salary might do all of the following EXCEPT --eeeceeeee,

1) work less than before

2) discuss the issue with his employers

3) explain the situation to his coworkers

4) stimulate his colleagues to work harder

In paragraph 2, why does the author mention employees who are over-compensated?
1) To describe how equity theory predicts their behavior

2) To explain why an unequal situation may not be remedied

3) To motivate readers to act in a specific way in similar situations

4) To illustrate a situation which cannot be accounted for by equity theory

What is the main function of the third paragraph?

1) Hlustrating the shortcomings of equity theory

2) Discussing attempts to put equity theory into practice

3) Providing practical examples about motivating employees

4) Pointing out the contributions of equity theory to business management

The word “that” in paragraph 3 refers to -----ee-eue '

1) personality 2) factors 3) someone 4) quirks
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